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(73) Vector Geometry  

  

(1) Given that 

 (p − 1)i + (q+2)j +rk = −8i + 22j    

find the values of p, q and r 

 

 

 

 

 

 

(2) 𝑂𝐴ሬሬሬሬሬ⃗  = ൭
0
1
2

൱ ,   𝑂𝐵ሬሬሬሬሬ⃗  = ൭
5
2
0

൱ , 𝑂𝐶ሬሬሬሬሬ⃗  = ൭
2
1
2

൱  and 

𝑂𝐷ሬሬሬሬሬሬ⃗  = ൭
−3
0
4

൱. 

(a) Find the vectors: 

(i) 𝐴𝐵ሬሬሬሬሬ⃗      (ii) 𝐵𝐶ሬሬሬሬሬ⃗        (iii) 𝐷𝐶ሬሬሬሬሬ⃗  (iv) 𝐴𝐷ሬሬሬሬሬ⃗  

(b) Find (i) ห𝐴𝐵ሬሬሬሬሬ⃗ ห  (ii) ห𝐵𝐶ሬሬሬሬሬ⃗ ห  (iii) ห𝐷𝐶ሬሬሬሬሬ⃗ ห  (iv) ห𝐴𝐷ሬሬሬሬሬ⃗ ห 

(c) Hence, explain why 𝐴𝐵𝐶𝐷 is a parallelogram. 

 

  

(1) 𝐴𝐵𝐶𝐷 is a trapezium. 

𝑂𝐴ሬሬሬሬሬ⃗ = 2i - j +4k   

𝑂𝐵ሬሬሬሬሬ⃗ = −3i + 2j – k   

𝑂𝐶ሬሬሬሬሬ⃗ = −i +7 k   

𝑂𝐷ሬሬሬሬሬሬ⃗ = pi + qj +rk  

Given that 𝐴𝐷ሬሬሬሬሬ⃗ = 2𝐵𝐶ሬሬሬሬሬ⃗  

(a) Find the values of p, q and r 

(b) Hence, find the exact lengths of the parallel sides 
in the trapezium. 

 

 

 

 

 

 

 

 

 

 

 

 

  

(1) 𝑂𝐴ሬሬሬሬሬ⃗  = ൭
−1
2
4

൱ ,   𝑂𝐵ሬሬሬሬሬ⃗  = ൭
2

−3
1

൱ , 𝑂𝐶ሬሬሬሬሬ⃗  = ൭
6
7
8

൱   

Explain why 0 < cos(𝐴𝐵𝐶) < 1  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


